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Note : Question No. 1 is compulsory. Attempt any 

five questions from Question Nos. 2 to 7.  

1. (a) Define the following terms : 2 each 

(i) Population 

(ii) Biosphere 

(iii) Niche 

(iv) Autotrophs 

(v) Biotic Potential 
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(b) Match the following : 5 

Column A Column B 

(i) Ecosystem (a) Dead Organic 
Matter 

(ii) Food Web (b) Adaptation of a 
model 

(iii) Detritus (c) Bottom of water 
bodies 

(iv) Calibration (d) Interlinking of 
food chains 

(v) Benthos (e) Energy flow in 
biotic 
community 

(c) Choose the correct option given in the 
parentheses : 5 

(i) Macrophytes grow in (shallow/deep) 

water only. 

(ii) Temperate forests are (hotter/colder) 

than tropical forest. 

(iii) Polyphagous organisms can utilise a 

very (small/large) number of host 

plants as their food. 
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(iv) Attraction of insects towards 

(light/darkness) can be exploited to 

trap them. 

(v) Pyrilla perpusilla damage to the crop 

by (sucking/chewing) the leaves. 

(d) State whether the following statements are 

True (T) or False (F) : 5 

(i) Insects have four pair of walking legs. 

(ii) In insects excretory wastes produced 

by the body are passed through the 

midgut. 

(iii) The life-history of a vast majority of 

insects like bugs consists of four stages 

of egg, larva, pupa and adults. 

(iv) Sucking insects cause loss of plant 

vigour due to removal of cell sap. 

(v) Fruit or seed is often the most 

nutritious part of a plant.  
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2. Differentiate between any three of the following :  

      3 × 5 = 15 

(a) Biting-chewing and piercing-sucking types 

of mouthparts 

(b) Hemimetabolous and holometabolous 

developments 

(c) J-shaped growth and S-shaped growth 

(d) Tactical decisions and strategic decisions 

(e) Alarm pheromones and trail marking 

pheromones 

3.  Write short notes on any three of the following : 

      3 × 5 = 15 

(a) Wildlife (Protection) Act, 1972 

(b) Types of remote sensing 

(c) Pyrethrum 

(d) The Insecticide Act of India, 1968 

(e) Economics of IPM tactics  

4. What is simulation model ? Explain the crop 

loss assessment with simulation model. 15 

5. Discuss the usage of bio-pesticides in IPM. 15 



 [ 5 ] APM-01 

  P. T. O. 

6. (a) Describe the equipments used in 

application of pesticides. 8 

(b) Give brief account on pesticide resistance 

in pests. 7 

7. (a) What do you mean by plant health clinics ? 
Explain this concept. 4, 6 

(b) Discuss the goals of IPM. 5 
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      APM-01 

Lukrd mikf/ dk;ZØe (ch-Mh-ih-) 

(O;ogkjewyd ikB~;Øe) 

l=kkar ijh{kk 

twu] 2021 

,-ih-,e--01 % lekdfyr ihM+d izca/u 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 7 rd 

fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

1- (d)  fuEufyf[kr 'kCnksa dks ifjHkkf"kr dhft, %  

      izR;sd 2 

 (i)   lef"V 

 (ii)   tSoeaMy 

 (iii)  fudsr 

 (iv)  Loiks"kh 

 (v)   tSfod foHko 
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([k)  fuEufyf[kr dk feyku dhft, % izR;sd 1 

dkWye v dkWye c 

(i) ikfjra=k (v) e`r tSo inkFkZ 

(ii) [kk| tky (c) ,d fun'kZ dk 

vuqdwyu 

(iii) vijn (l) ty vkxkjksa dh 

ryh 

(iv) va'kkadu (n) [kk|  Ük`a[kykvksa 

dk ijLij 

tqM+uk 

(v) fury (b) tSfod leqnk; 

esa ÅtkZ izokg 

(x)  dks"Bd esa fn, x, lgh fodYi dks pqfu, %  

     izR;sd 1 

 (i)  ògrikni dsoy (mFkys@xgjs) ty esa 

mxrs gSaA 

 (ii)  'khrks".k ou m".kdfVca/h; ouksa dh vis{kk 

(xeZ@'khryrj) gksrs gSaA 

 (iii) cgqHk{kh tho (cgqr FkksM+h@vf/d) ek=kk esa 

ijiks"kh ikS/ksa dks [kkrs gSaA 
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 (iv) dhVksa dh (izdk'k@va/sjs) dh vksj vkd`"V 

gksus dh izòfÙk dks muds idM+us ds fy, 

bLrseky fd;k tk ldrk gSA 

 (v)  ikbfjYyk iiqZflYyk iQlyksa dh ifÙk;ksa 

dks (pwldj@dqrjdj) uqdlku igq¡pkrk gSA 

(?k)  crkb, fd fuEufyf[kr dFku lR; (T) gaS 

vFkok vlR; (F) % izR;sd 1 

 (i)   dhVksa esa pkj tksM+h pyu Vk¡xsa gksrh gSaA 

 (ii)   dhVksa esa 'kjhj }kjk mRikfnr mRlxhZ inkFkZ 

eè;ka=k ds tfj, ckgj fudy tkrk gSA 

 (iii)  cgqr cM+h la[;k esa dhVksa tSls cxksa ds 

thou pØ esa pkj % vaMk] ykokZ] I;wik 

vkSj o;Ld voLFkk,¡ gksrh gSaA 

 (iv)  pwlus okys dhV dksf'kdk&jl dks fudky 

nsus ds dkj.k ikS/s dh o/Zu'khyrk dks 

de dj nsrs gSaA 

 (v)   iQy vkSj cht ikS/s ds izk;% lcls 

vf/d iks"k.k iznku djus okys Hkkx gksrs 

gSaA 
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2- fuEufyf[kr esa ls fdUgha rhu ds chp vUrj crkb, % 

      izR;sd 5 

(d)  drZu&poZ.k fdLe vkSj cs/u&pw"kd fdLe 

eq[kkax 

([k)  vYidk;karj.kh ifjo/Zu vkSj iw.kZdk;karj.kh 

ifjo/Zu 

(x)  J-vkd`frd o`f¼ vkSj S-vkd`frd o`f¼ 

(?k)  lkefjd fu.kZ; vkSj j.kuhfrd fu.kZ; 

(³)  lpsrd iQsjkseksu vkSj iFkfpUgkadu iQsjkseksu 

3- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %   izR;sd 5 

(d)  oU;thou (lqj{kk) vf/fu;e] 1972 

([k)  lqnwj laosnu ds iz:i 

(x)  ikbjSFkze 

(?k)  Hkkjr dk dhVuk'kh vf/fu;e] 1968 

(³)  vkbZ- ih- ,e- ;qfDr;ksa dh vkfFkZd O;oLFkk  

4- vuqdkj ekWMy D;k gksrk gS \ vuqdkj ekWMyksa ls 

iQly uqdlku gkfu ewY;kadu dks le>kb;sA 15 

5- vkbZ- ih- ,e- esa tSo ihM+dukf'k;ksa ds iz;ksx dh 

foospuk dhft,A 15 
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6- (d)  ihM+dukf'k;ksa ds vuqiz;ksx lEcU/h midj.kksa dk 

fooj.k nhft,A 8 

([k)  ihM+dksa esa ihM+duk'kh izfrjks/ dh laf{kIr 

foospuk dhft,A 7 

7- (d)  ikni LokLFk funkfudk,¡ ls vki D;k le>rs gSa \ 

bl vo/kj.kk dks le>kb;sA 4+6=10 

([k)  vkbZ- ih- ,e- ds y{;ksa dh foospuk dhft,A 
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